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H# 1

10.

11.

12.

13.

Hard-working,intelligence F1 highly motivated M/ 5 8% ?

AR K AR 20 homesick, B AT A P 3122

Which of the following do you think is the most important for maintaining good health?

Doing exercises, eating healthy food, or going to bed early?

What is the most important quality the teacher should have? R\ AT by & I f 28
()2 e At it 5T 2

Your university is planning to allow students to watch TV in theirs dormitories. What is
your opinion? What are the advantages and disadvantages of watching TV in dormitories?

Include reasons and examples to support your response.

Suppose you are doing volunteer work at a hospital, which of the following jobs would

you choose? 1. Talk to patent 2. Read to patient 3. Look after patients’ family members
Some schools require students to take part in community service activities after school.
Which of the following do you think is the best activity for students? 1. planting flowers
in the community 2.doing clean-ups in the garden 3. recycling waste

Describe a present you have given to others. Explain why you think it is important.

describe a time when you learned a new subject. steps

Some people think students should study in the classroom while others believe they

should visit the museum or the zoo. Which do you prefer and why?

What do you think we should do to decrease the usage of car or other vehicle and solve

the traffic problems?
Choose ONE of the forms of the technology in the list and tell why it has great impact on

people's lives in your country? Airplane, computer or television. Use specific reasons and

examples to support your response.
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14.

15.

16.

17.

18.

19.

20.

21.

22.

Your friend often feels nervous when speaking in front of a large group of people. What

suggestions would you give to your friend to overcome this fear?

Talk about two singers who are popular in your country. Explain why they are popular

and how they are different.

Describe how cellphones change people’s lives.Please give your answer with specific exa

mples and details

What do you think is the most significant benefitthat internet brings to our life? Explain
why you think this benefit isimportant. Please include reasons and details to support

your response.

Talk about an important decision that you have made.Explain why this decision was

important for you in details,

i ' Hs: (141123 &%)

The person I'd like to learn more about is my teacher Tony for the following reasons.
First, it seems to me that he knows about everything. He can answer all of our questions,
math, science, literature, you name it. I'd like to find out what kinds of books he reads so
| can be as knowledgeable as him. Second, he’s the funniest guy | know. He’s always
telling jokes in class. We never get bored because he gets our full attention. Lots of the
stories he tells are from his life. | hope | can live an amazing life when | grow up, just like

him.

Talk about an activity you enjoyed doing with your family when you were a child, explain
you answer in details.

Describe a good study habit that is different from other students.Z3fLl@ H: Do you
agree or disagree that assignments handed in after the deadline should receive a lower
score? R, BAAEN N AL 52

A TEENK

NGRS

I SRR ANV s R A0, A P LA A i PR &0, SR BN A, X AR
B 22 AR IR 23 BORI ATV NV R I ) A2 AT K 2R I

BIPSN

IBAZAENY LR ZIB AR, WSS R 7y, R A 3 A 1 22 AR B AN A
o
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23.

24.

25.

26.

27.

28.

29.

Among the following three professions, which do you think make the biggest
contribution to society?

EEN/EN

¥ nurse: PUMIATT AR, SUIRTGHA, i LA AT 33 AR 229 A1k
SRR, 1R,

1L F¢ elementary school teacher: A GUMATI A ST E &1, M XIEALE
AR, FrL AT TARIR 2L,

MedE artists: PUOYMATIGNIE Y TARZ RIZARN, iEAATAT LR, Hein
SENNHJE, ST AR, AFAE

Do you agree or disagree with the following question. In order to stay happy, you must
do a job that you love /R & 15 Al Z LA R ZEAEPUR, ARFFEM—AN A e ki) T
fE?

Gr2E: hEhE

Agree: PGB XIXITAE, A B8 A7 5 2 BORS J) MIRE 2 Ao o A%
SRIG A BEAC LAEMLS o 1f) HLRIN A RESS have fun, fRARFA.

Disagree: AN — & 25 M H O LAE, XSG 7] LUBCHE N IEZ )5 HHA5
FERT USRS, AR U Tk

Describe a special friend of you in your childhood.

Students would like take part in some free volunteer work, what kind of volunteer work

do you prefer? Explain why it is important?

If a high school is planing to organnize an after-school activity for its students,what kind

of activity would you recommend and why?

Which of the following transportation methods do you think is the most enjoyable?

Bicycle, automobile or train. Explain your answer in details

Describe a special event or occasion that you had with your family or friends. Explain

why it was special.
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H# 2

10.

11.

12.

13.

Someone likes to collect old things, someone throw things away after they used it.

what's your preference?
ERFFIE IR F AL B EEL?

Do you agree or disagree with the following statement? Yong people today know more

about world events than their parents did before.

Would you like to make friends with the same interests or the one with different

interests? R [ AN [\ 52 HR T AC L2 B AH R 1 2 GF (P N 2
Agree or disagree:students should do part-time job before attending college. G AN\,
1 K22 Wi N1Z 4 work experience, such as doing a part-time job. f4& 75 [A] & iX

AW

Do you agree or disagree with the statement? Teachers should make their lessons fun.

i ?.(141129 ©0%)

Do you prefer to do a job which requires you to travel a lot, or a job that allows you to

work at a fixed location?

Do you prefer a job which requires you to communication with others, or do you prefer

a job where you work alone.
Some people believe that it is better for small children to grow up in a small town.
Others, however, believe that it’s better for them to grow up in a big city. Which do you

think is better?

Should employees be required to wear suits in the workplace, or should they wear

casual clothes?

When you take a trip, do you prefer to just look around, or do you prefer to take

pictures and keep a journal?

Do you prefer to have fast food in a fast-food restaurant, or do you prefer to have food
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in other kinds of places?

14. Some people prefer to go to the same place for a vacation.Others prefer to go to differe

nt places and spend less time at each place.Which do you prefer?

15. Do you agree or disagree with the followingstatement: people live healthier lives now
than they did 100 years ago? Pleaseuse specific reasons and examples to support your

answer.

16. Do you agree or disagree with the statement that it's important for students to study Art

and Music in school.Explain your answer in details.

attend-schoolExplain-youanswerindetails— (141123 &%)

18. While traveling, some people prefer to go to new places, others prefer to visit familiar

places. Which do you think is better? Explain why.
19. & [H 7 itis better to be a member of a team than to be a leader of a team.
20. Large grocery department store or small special store, which one do you prefer.

21. IRIEEE S S sports, I8 & H ) A play. Which one do you prefer? Be a part in sports or
watch other people play. Use specific examples and details to support your answer.
| prefer to participate in sports instead of just watching others to play. There are several
reasons for this. First, | personally enjoy playing sports as my hobby and interest. | feel
relaxed after a hard day’s work every time I’'m playing basketball or soccer. It’s just a
great feeling to do something | enjoy and get the frustration | built up in the day out of
my system. Second, playing sports allows me to stay fit in the process as well, it helps
me to lose weight and maintain my health. Lastly, it is actually easier to make friends
through playing sports together. I’'m a person that is always interested in meeting new
people that share the same interests as me. These are the reasons why | prefer to play

the sports instead of watching it.

35



22.

23.

24.

25.

26.

People’s personality will change as they grow up or remain the same as the time goes by.

AT PEAR 23 B T AR I 2 AN 2R

Some one prefer the traditional way of working, like going to the office setting, others

prefer to work at home? which one do you prefer?

Some people like to spend their spare time with family members and friends,some

people like to spend it alone.which do you prefer?

Do you agree or disagree with the following statement that people will read less in the

future? Give examples and details in your answer.
When they meet a problem, some people prefer to seek advice or help from people who

are older than they are, while others prefer to seek advice or help from people of the

same age. Which do you prefer and why?
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1

jazz band ZEAT afternoon ERZFEHY lawn FF concert
woman T

1. FAESS] . =FTHE > evening FEA4F

2. R% NEHESPEIRELY

2
(COIN=1'D|
BANFESTEE WL IR BT [R] 10 538 EK Sy 20 535 -
|@EEENEED |
1~ At BRI TS mT - FETEE TN EIZE
2 ~ A e (R IR A PR 2B (] professor [A]/EH <
B4 disagrees °
| @EEENEED |
1~ EPr BARZ IR ERAYI T SR 10 Sp PN SEREEREE - R E RV - Bdv T
BEFEAT TR o MEBIEERE]T > professor HIEEHEf ;
2~ WREIEFZ AR — D EREL private SBAF 0 GG TR S AT AR EREL unfair - FRDASE 2
a] DUFE R N3 Email 325 0 R professor 7 regular office hour » 5] DIFEHP{EZ[A] »

Question : Explain the man’ s opinion towards the suggestion and why he holds that opinion.

3

SARFHEL energy saving plan P PREL (2. light; 3B EFIERY air condition {FAFAK cut $5 -
LA AR N - 55— light bright enough, students ERYIHEXT (A& (A KL 7)5
AR, A BRI R BIEA N o AR AR T (R, AR E 512 best place to
study X NAF T AR LB TIE T EVAAE cooler HY dorm EY o [ HE FIE
comfortable and quiet, [ &< noisy, busy.

4(

(e T/ ) P4 BA5 N ER IS IR ZE B ORI B S B A RS 24
[F H] BT (1) efficient; ) FHE/PFAEHCOHE -
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(FFAELE] 2R

(FEEEA] Q) HAFEEIOR D > RS E—H > TRV AR - %
oyt s DARTAAR L E R E] - BT LU R REERS (UEBEURTR DT - FAERE - X
R DA B R -

6

[ AFHE] 74 propose FRNIZHT AL S —FHFZHl, Z5A] future roommate Ky
contact info:email HrHERTEEIE: £F4A 1A DOEF IR S G AR, B BIRHE % A0
oo A 2~ AATFLL Plan FWFEH EHVRIE, A N2EEDIR IR < [F4 1] :woman 1R
B EE — R RE L A R # R 2 BT H CHY future roommate BEZ XAFHFFRIELAR
2 KA EARINR REREET AR S LOBE R J7, N ) - 35— SR aE A R e
C.HY future roommate P& A JFEAIEE RN AIET TIRZATE stuff FLECR T, 88
A & DME T2 5 OV TR (A o DI & (2 7R, 8 o EE E YR PE) -

7

AT concert 28RN E,—REGFAE L — Bl 2 88&, R AT DUFE & e iy
reputation,5[#2 schoolchild = F RIS « BAYSZFE, K —RIEEE AT —RN
concert, —RA]DATE I T 1 & & SR 4l -

8

58 58, SR S B AR M SRR AR, PO TR IR S B AU PR R AE 5T B ] WD, 2R
FE, 1 MMEE LREE T 50 77, iid(to - 2 ZAILEZ TENG A AT
%

9

(ATHE] FAEBERFR R IWNNZ R A EERBIESTOR - Hi 1,2 E ks
SREEH - B 2,524 #EREAN T, RN A SFRIEER BRI 1Y « (AN ]
LAERO, B L BIRRA A A e T, BT EAEAR e 5e e a5 1, i B 3] e
RE—MEREF - BH 25t FEEE 200 ORIE A TR S b R ARt e
FRIHAM R T -

10

proposal: a student suggest EBIRRHIEAIED, &S AE AN 1. KB —RIERT
K ENTFR 2. S AERIN R EE T XA LU D BIEEEE B - 24
Fext:1 Biadr )L EE paper, 2 RIRZ 5,2V 20 A HATENHEHEE - 2 MK
R -

11
A letter from a student says taht the university should impose on monetary penalties for people
who litter on campus for the following two reasons. First, it can make university cleaning. Second,

the university can get lot of extra money. In the conversation, the woman supports this plan for
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the following two reasons. First, her home town was dirty at first but when her town issued such
policy , the town become cleaner. Second, the university can save a lot of money since it does
not have to pay employees to clean up the university.

U NHER > BREECRZ MBI T - R AR R - 22 2 kA T EERECR - 3
TR ZRFA - AL T4 ZHREWHERBIRAER - £ 87
Pl AFTHIREIE » A A LA K.

12
EE: YA on campus BIFESEE S ESMNEIY— N7 XA A 1. SRERY R
FRGETE S AL - 2. SMEIRY light F1 sound ZFEHLF - I )7 BAREE, W 1. K
BT AR EL EIFA TR AR 20 B TR E PROFETIONAL 19,07 DU <2 Il 25, 25 F S 47
SYSTEM 7 ¥F iR 8 7% o

13

[R50 ) 5 AL math building [ —J2 XU cafeteria. Convert large empty room in
Maths building into small cafeteria. Student can eat between classes 2) install recharge outlets in
new cafeteria so student can recharge their laptops.

(2R LY AR 1, B U I, B AE nZ W ¥ 3 7 7F student center, & building 432, b iR 1] i
P S EIEE
JEE BE BB — AV AR P W A 2 0 AR i Xt E e R K IH T cafeteria 1] LA recharge
laptop XFEAR 718, 1 FLIA W] LLAETR T 5 A9 ZE . (students always use laptops during classes -
allows students to recharge

14

(AR AN Y ALHE T B, BRI 228 AL AL (auditorium) 3842, 1 2 2 XeadE 5 i R 498, A8
Ja5I N online tickets system

[ WY W AR R . B 2L B 5 i) R G S A e, b A Ik B A 2R i
23 IR FE UGN worke 55 ,online systems 3 R, GE MR Y in) @A 5 AR MR

HH 5 () N ) 5 37 3 5, R AL 2 B B0 AR e, A I S SR BMILAR K

In the set of materials, the reading part mentioned that the school’s hall needs to be renovated.
And there are two ways of improving. One is to improve the stereo system; and another one is to
introduce the online tickets system.

The woman totally agreed with this proposal. First, from her experience, it is really a giant
problem for the stereo system. The microphone often doesn’t work during the poem
competition, which gave a bad ambiance for them. In addition, she believes the online system
should be very effective, which can easily solve the problem. This is because the hall is quite far

from the classroom, not convenience. And sometimes the queue was also quite long.

15

Reading—Announcement: the school is planning toprohibit students ride bicycles on campus bec
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ause there could be accidents.Instead, the school would provide free bus service.
Listening—Attitude: 4= %)

Listening—Reason 1: AR &ML B AR, FIRIR %4

Listening—Reason 2: Bus — /NI Ak —3E, IR 9B 1)

16

reading:

School will remove the posters on the concrete wall outside the student centre. first it can
improve the appearence. second, posters can be putin the dining hall on the bulletin board.
listening:

woman: disagrees.

first, the concrete wall would be boring without the changing posters. Different posters can
show different personalities.

second, not everybody eating in the dining hall. students may choose to eat in the snack bar or

on the street. So posters in the dining hall will not be noticed by them.

17
Reading
[ Proposal] Students should be allowed to use cell phones in the library.
[Reasons]
1. Students can talk with a lower voice and whisper.
2. Occasionally, students need to make emergency calls.
Listening
The girl disagrees. It doesn’t work.
[Reasons]
1. Thelibrary should be quiet. If students talk with a lower voice or whisper, they cannot be
heard, so they would have to talk loudly and make noise, which will cause the distractions to
other students.
2. If students get emergency calls, they can go out to check messages. Normally, urgent calls

will be delivered by messages.

18 (141123 \3#%)
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19

[N ABIY —22EEBOCH] coffee house. R IX AN LT IR DA A RA & — /N R4 1 i3
JiIF HAT IR ZEAE ' 2

[ AR AR RO @ BCH E 1:48 2 2242 R A U (E e A I ] 2 5 7
coffee house 2¥<:, hang out or do some reading. ¥l i 2:after renovation, XA~/ AT AR 4T,
Rk R EATOBIRE .

20

Newspaper to Post Off campus Job Opportunities

The newspaper will feature a job listing of local off-campus businesses

1 stu complain about shortage of jobs

2 help stu find jobs related to their majors

She agrees.

1. When she was freshman she went to many places like a bookstore to apply for a job. She
didnot get one. The offers given by the university are taken too fast. It is very frustrating. As a
freshman, she was not familiar with the area. She didnot know where to go to find a job

2 Her friend who majoys in law wants to know how a lawyer works. But she works in a bookstore
which is not beneficial for her career in the long term. If she can find a job as a lawyer, she will

have sth good on her resume.

21
BB K2 A AR B 2 B, ARt 20 A,
SRR

J PRI Z — A W) b KA AN B 78 A6 18 SCYR L AT % 1K
JR R Z o K& R AN, s R Z PR, KR 2 AT .

22

[Fgi ) 2 S @ BAR N %A A © museum Bl —. AT LLZ opportunity JRE{IFAE i;
HE L AR E A .

[Wr 15 A2 AN = BEfH— . downtown ] museum R, H by bus /N Eks] T .
M HIB 2% B35 NB I E R Z KA exhibition. ZEAFEA UL H A —(AR) 0k, M
L IR A AR T A AR, — N2 B E, 7 — 42 student center.  ZEEE
B AL AT AT RedRER T

23
(2R A 28k top student BiZE 2224 1. 0] LALE 22 AR 4 2% 2
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2. XA ARAS IR T AR AR H

[~/ 1 :The man holds a negative idea.

1. RECLEFE certificate T ,enough T;

2. WPAIE IR R & 58 W 4, G T chemistry students,

24

[ 2442 40 ]) :announcement 24X 0TI ZE AR library expansion: 8 & 41E 5514 #] student
center L% new library, MM increase library space. {4t 1. HEZHFMIRBEL P
shelves. fFE Z AR materials. 474b 2. $B2EZ R fa ik A E 2T A .

(A ESELB R Bl 1. RN ZH] technology FBUm ARy 2K 1I1E LT space,
EE ks BB ) electronic copy fifi £ 21 HELI L AT AT 48 ¥ 0. BEER 2. [A]22A1192 25
student center [, AR ZEA 1H. RN PO HAERBUAE A R D,

25

A student writes a letter suggesting that school should ban the food cart. P~ iR, —# Not
clean 0 T4 AR AR e AL

WG L AN R — B AR T 18 AN 2 food cart [ 11) 1T /& not enough garbage can [ 1]
B ERNAZ 2 TR LA B M. R R B s B A WA £ Healthy, 1 food cart Bk
T 14t hot dog 2 Ahid e fit fruit A1 juice IR T M. LZERTLALSE AUz ANSAEREE |
hungry.

26
plan: university will no longer serve poetry writing course
R1: class small, enrollment decline , not worthwhile
R2: student can take a similar class in state university
man: he thinks it's terrible
R1: #lA& R N/ A B hnf) worthwhile, X448t 7] BA more attention from professor, get
important feedback, i individual talk with professor & important ) KFEA1E they cannot
learn that much.
R2: state university AN J7{#,own car {1817, 7 24E 2% more than 1 hours on the bus, for
student who takes public transportation is inconvenient.
(2] : FRERAF AR AT ES S 16 /NHYEEIED) -
LAFEE -
HH—  #AYERS SX NI HESE T H IR EFRECY 72300 -
B AR R IR EIRV AR AR E R RA B Y -

27

Reading: A student suggests that school should post professors’ evaluation online. Thus, they
could first professor to improve themselves and students could see these evaluations to judge
who to take class with.

Listening: Students do not agree with the proposal. First, the professor will not be happy to see
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the comments online.

Students focus on their study and they will not take the evaluations seriously.

28

(AR Y 45 PR A 20— 2 0 7, 55— S K IO )

(AERY B BURS . 25—, ST B, 740 5 W2 22 P 5L, il B 2 3907,
CEIRI> ZEMN AR A TARZRS o 5 o 2 AR R S STAR HE, VAT I Il 25 R 1, 2 0 1
PR IR G IR R EZ 2 B RS
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1

anticipated emotion » A SREL{FEN A2 E CH T A E 2 BaE —NERAT LA
A > AR AME T E B C TR B HI RS - lecture B > HEEHIT-iE —
RELIREETE FALY) I — HHRAECHY jacket » (LT jacket 2 5k H AR A4 £ £K AR
[EEAVILY) TR B LI EISE T jacket HYTE (R SRR » BT E R RR
T

2
(EAGEEY
T X HE (stimulus discrimination ) ©
H—shY4imit sound, movement Z 55 S (E ) stimulus, AAMNY Y S Z X E(E E.
BHEERZ A EEBER  MITELTPEE CAELTER - i1 HKSER A ERY
A SRAMER AL S -
[ 2501 )
lecture B » % LUBSIHY T2 predator BIVEHII G » Wi HA 2R A EIENIZ/ESY -
HAE—MIMzES » HARISNDENTLE « Xz E5I A& 1Y sound ZFp—HY »
over and over again. [fj EAAYA HEYN] more complex » like music o A DAESYa] DLUE X H|
XA FEERAMTER 2 T predator o ZIEEAVIEFLELR run away » AR ZEHA S
escape * (R =IHFERER -
Question : FHIT JJEYET-fEFT stimulus discrimination HYEEf# -

3

Behavior chaining, 2 A B 20U NZF— 155 U X B E AR — 22— 8 - Zagiy
lecture TRM&EH, 55— BT 2l 3 A2 wash hands, REEI\ N, Xt /& one action, 25y
FF24,5 & ,turn on the water, wet the hands, put on soap, wash hands, turn off water. 5K Z—
Y N B SRR LR T LREEE R R F T -

4

(53323 T A S HRY  cyclic population change, i fE— 4 7S Za 2 (ecosystem) H1, A= 97 7 [R]HY
¥ 5 (population) 12 G FHE21H Y, 7 B & (predator) FI#E i & & (prey) V= A — M # 5 - Iy
J13E2E T — MoK o Yf—Ff mice FI'EHY predator(ATAEZ L wolf) [A] A iHEZ
i o 47 =N E%: (1)prey (mice)Z%,predator B¥) 75 /2, population I7j[; (2)prey /) 1 ,predator
EYRD T population JE/V;(3)predator /DT ,prey N HEAZHESK T, AL EEF, population
o o BARUEIR EE=MEEE S M ELENE cyclic ATEE X =ME -

5
[ 4 3A)fi# %% ] attribution error o EJE 1 AE HI W 5 A BYTT A B BHEE, A [ iz SR 45T
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N AHY personality, % HEEZRIMNRAVENE N - [FE2661] 2oy 25— s,
RENT, =Wt chief $2715<T new course #Y [n]i#,chief {RAESK L IIFIEHT
350 e X R A TS [, A B 2 S RS LAY announcement, (HE#% HS2Z
REF] T 0T I

6

[ #47Af%F%] Close communication bias & RERIRIR 2RI A M A B, R RN 24
BIIANFHETLUE ARSI SIE « [Ba22:61)] — DN ER DRI BERR R A
112% EBERFBIEIZIR « MR ERBRIVEIRA ARTHEEE — e E01Z MR« BRI
PRV ENE BIRER ALE - i RIER LA R AR BT i A4 B08 1EEME -
HRI B AR HIAE BT AL ARIIN B A A T B —F B o IGIRIRIER] T fE—
‘F o

7

[#41Af# % ] natural consequence [ BEFHY/NZAEUEE 35, R N G A FIRE ST, H G (RS SR A 45
RRETZT - [JF BE2R0] #edn 70007 380% 5 SV LAF Bt R REER, P
PR LU - — R VRIS ARUE Jahe, 280 f e A R & i Ay
RS T, 2 VEX A ERINAEE R LUe AR RS BT -

8

[ #47Af%F% ] :place marketing,—/1Nf 5 FI F st Ff Rk ke 5 [  [iFEE201] 2 —1
&Y town R A ENNAEME, AH —MF 2 T LA B, FT LUXAS town A MEF
B |—SREWGS SR, TS E f - R EERXA town R{ATLUREIENNTY
N AR REFTHEER SR, SIS ME s I E - X2 MNERMER 5[ TR active FYFEE
Ntown EEYIRIE IRIEHEZ AR T © &5 HAXA town YEGFTHERET -

9(141129 E£%)

10

VAl fiFE % interest boosting: - Hh i AV —FH4 T (technique), L2 BV (28, BEHEEE N
HURFIF A A HE: 2 832 (connected with what the students are interested in), 54 5 AE

FHVEARR « B2 22 TR ERNZIN, BULFH - H—XZEW Marie Curie {HFF
BT AENTEA Fo Bt SRS, G R E E R B — R T EER AR, W T —L%

HhAY & AR, 1 H 2 A A CUEIR popular “EAEIREREY - A AR 2 3 FL g2 B4
HIFEIF LAY f& R ARG, B RE G EET T - w3 HEER PR 202

interest boosting

11
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¢ JFkHY feeding o PAFRIIRPAYILA R Z - Hp—FPEEMEFIRZEAUST 05— A2
i o 5517220 T — TSR cattle HYBIT- o XFPEGIZ—FPEL B - XFPELERPE cattleo 2 cattle
IZE BN SR Sk EA LR cattle A 2320

12

Assimilation and Accomondation

[5]152 B2 15 * When chilren learn new object, if the objects fit in the concept they knew, they will fill
it in that category, this is assimilation. Accomondation IR E T » LA IRSE T -

Ifr 77 E 3% ¢ The profeesor's daughter,Jenny, always watches birds through windows. When she
saw a bird she would shout":bird!bird!"since it has wings and feathers and it can fly. Later, when
the profsesor took Jenny to the zoo and saw ostirch, she did not know it was a bird. The
professor asked her:"what is it?" She hesitated to say:"it is a bird".

B2/ > BB WA S AYIHEE - 1k/NZ i BIRD - fEMIAYIK 5 - SEYRESELE /N
B KAIRTE - —REEEH 4L EENWIEE - B I ostrich WA EEE - I TXANRIL
INZIRE T RS FEXNET - LR T BHE X

13

[ 1/ ] diffusion effects - BRZ LI & PRI » (B LIFRIGZH U F SR 96 2H Y TR
XN REAN T -

[FEE25]) —FEEE research —|> exercise 0] N 0] DLZEfi# office worker HYJE 57 o fL—1>
building 734 » HERI ex BV —AH RN ESIFAMEVIE—H - SHRJLEIHH LT » 52
5 ZH YA A BLER B A Y A RIS IR » 355 72X ex (B SR » 45 S HRZH A A S5O0
A~ ex T o SEERRIN

14

PlBECE P T — PR AR AMTESHERERE T2 (AT A
R AR

BT BT R ANERIMRE ZREERVOTFEETE - RAREITRIERE © 151
TR AR i EEIEA el EFEFIEEEAHEN FTEIEE T - LA K
B4R - (HX ELE SRR 11 E AR B S IEREEA T Fr At FEE T - 4558
AXAFRATRIESTEW - 7 BB A R R - [I5RJE - 20 LR ACR A R (BT X8
BRIV E &R T TRV W WEFEE - B & X B M RH— A
Mme

15

(437 fif R ] leader price, At 4 A Bl i B A, 31 5 B 53 B 250 A S, I AL A3 7 k..l oK
TS TIXA

77 it 3 SR P LA BRI AN 7 it BB, FLAR e TR 2

CDFRE2S5] ] S E e I A T AR, 2o 3

FEA IR AT) 5, VF 20 W03 A S MR S 1 LAt < 04, (80 A4 B LU JA 314G 17 3 v i )
G
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16

T 8: promotion risk

Wr Jj: ¥4 software designer N4 TAEIREF, HETHHAME T supervisor of xxx department, {H
FEXAN MR B A, (HREAEKE R, ARl deadline Z HI5EH T4E, ANGE motivate
HAh 5310, AHE NARES A IR, S AR B+, R w2 45 At IR ) XU

17

Reading—Test Customer: in order to see whetheremployee’s performance, the employer might
hire a ‘customer’ that makespurchases in the store just like regular customers do, then the hired’

customer’ reports to the employer about the employee’s performance.
Listening— — /N JT 1f) manager $&8—/> A\ 4 test customer, Rl 52 110 AR 25 & 75 247 o

18

Reading—Coloration warning: Animals havespecial color or other features that surprise/startle
the predators, so thenext time when predators see them, they wouldn’t come close.
Listening—Skunk [ 5 i1 The predator of skunk is wolf. When wolves approach, they would
emita unique scent to drive the wolves away. Skunk has bold black and whitecoloration which
makes their appearance memorable. So the next time when wolvessee skunk, they know to stay

away in order to avoid being sprayed by the scent.

19

convergent evolution the process in which unrelated animals develope similar traits. Example
used was the aarkvard, a pig like animal, and echidna, a small animal in Africa. Both animals eat
the same insects who lives in complexly mud holes. Both developed long sticky tongues that can

be used to eat the insect.

20 (141123 &%)
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21

[ 2R Y A0 202 . #hdki(method of loci). BB AZIT image A2 Z: V1K)
Jitke EIARVEE vivid, B 473

[0 25451 Y 2% 45 T/~ id names of planets 1411, ¢ names of planets B 145 —4
ITRMNA T 91E— 2 student center ¥ _F[FFRE 25042 L WIREE from your dorm to
student center. The first thing you see is the front door, then the tree, then the status in front of
library then the building, 5 ——XJ W, [t 1 to memorize names of planets in solar system, make

Mercury as front door, Venus as tree etc. 1%l /R5k do the same thing, H/iX 2% door, tree
A HMZE names.

22

JER T ) o A BEER 1 L el VL E R BC A (8 — B s B 5 s

Bl B3 A AR, (AN EEGCRHIR T JERAES LRSI a2 507
PERELL A JRLFI B MBSk, ITHR, (HERRBLBLE LA B O A AN L. Pl #d%
HBEAE = 2 A RS 2 (B8 3k

23

SCEE B TR S A A S A

HAAE T AT

AU B R A, ERIFRCA AR, B LA T AT T

B A QA S, Ak, e BB RN h g, R
FERAAF S, RWIAATEAN R T A5 B BLSE A it »

24

[532) U optimal foraging, s )il 5t i 2x ]l energy-efficient approach Z:4ili £, minimize the
energy to get what they need. Lecture.

[T )Y Bl75&—Fh &, Croak 228, W5 AR & shellfish, 56 9% 217K LR K1), pick
up the biggest fish in the lake , 38 5 448 WK BLHMH SR G A B KT 5 K S HL 748 AT 25,
AR HIE, S TEA T I3 3 — IR . KR IS IR 94K ) ® B4 &1, fly 5 meters, no more no
less, to drop the fish, crack the shell. KA & —F shell fish, NGE H.#1Z.  if high, waste energy.
if low, need to do it many times, also waste energy.5 Kit & NEAMEIE &G

25

Aggressive recuiting Bl X EHE] W 45 5 i g — 2o s gt LRI, HE Wi 5 Fan i 2
N .

lecture 2% 7 —A> gym [P FAE UL IX MR A 2ctE. FARE, gym 7E4E) AL 93
PRIHESIRT, — DN HLUGEON S BUE, 45 R Nk e - k95, T8 T
gym ] customer basis, 215 %L

26
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[ 4 3f# % ] : emotion display (17525 %A
It means the expression of emotion depends on the society in which we are live in.

[ % 2541 1: The professor uses an example of his 4-year-old daughter. She had a birthday party.
Prior to the party, parents told her that she should hide her negative emotion when she did not
like the gift received. Her grandmother gave her cute clothes as a gift. But the girl did not like it
and felt disappointed. Before her negative emotion became too obvious, her mother said the
clothes were very cute. The girl suddenly realized that she should say thank you to grandmother
and she did that.

27

passive locomotion. Animals can be carried by sth in the environment without using their own
efforts to some where full of resources. #{ %457 spider 1% . spider i L L jump FiI
walk K5, (HIEEA TR, FOYEMTSEIRE, HEPRx, mTLeEE A 2R IZ
Hi77 (lots of insects ,fewer spiders).

28

releaser: — 7 initiated [1] behavior KAAH 221 stimulate 2K KA1

egl: toad, X[ T4E{7 move like fly I ZR PHH S A HEIT attack, Eoin— HATE M K M) move
7t toad [HIHT, AhAIT50<s Bot AR 20z Atk

eg2: geese X T-{LA1 shaped like egg I AR TH AR AREMI R YT, LLan M KAHE = AV LE
R, Wi ARm LR e, XA parenting.

29

[ &iAf#EFE]) - 5T search image

[ Fdxzsp] © Sz H AR - R4l B e  Frbi R S5 LISz
A% HiGkEE R 5 BIRE T HERRRIELS - RFEA TRTLREIH R T &
UK EREIZ -

30

Reading : Concept of reactance » =4 A\ THEAHE R VFHEEREENS - AMTATEAR A -
Listening :

Example 1 : Kids play, if their parents do not allow them to play, they are more likely to go to
play.

Example 2: Soap contains an poisonous material, but when soap is limited to be used, people will

miss it.

31

BB 7 2 AR predator AYANIR] T AN R, R A 5 | Ak £ ) e i S 7 th AN o W g B
PE2 meerkat, I AEVETEHL N, (FGE AT B BIHITH 25 30 6 o 0 o — AR, e A
big bird [RINF %, 23 & AR M (K55 SCRE 0 1) SL SR AL Rl 2 Sk B3t N L H A Ok, HEE
G PG R, 3023 A 50 b FEAS IR P55 I 2 BT AT meerkat 43 SRS KR IR g
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H# 5

1

[1 “[A]& ) the man can't find his camera before his trip to Spain. BE4:4f spring break 2 2%
PEDES I, AL R B B R EUS VL E T

[2 Y] he can either buy a new one, or borrow one from his friend Jake. Z 4 ikF{tSE, {H
Atz enough money, it 5 C it AT (B Ehin 17 BAREY#45) o] DUE At (B2t 18
2242000, 55— broken 2(# stolen EEAYLF T
In the conversation, the man plans a trip to Spain during the spring break, but unfortunately, he
can't find his camera. He is so upset because he can't take pictures there. The woman offers two
possible solutions. One is to buy a new one, and another choice is to borrow a camera form his
friend. The first choice seems impossible because he can't afford a new camera. And he also
doesn't want to borrow from his friend though it's available. The woman agrees with him,
because if the camera is broken or stolen, it will also be a problem. And if it were my choice, | will
choose the latter one. | would like to take pictures very much during my trip, and now that | can't

afford a new camera, borrowing one becomes a good alternative. Though it is at the risk of being

broken or stolen, as long as we are careful enough, it won't be a problem.

(A ]

AR B2 PRI textbook TTAERE 5 1 > {RALBAREA -
G PIES|

1~ B b a & fE text book » {HZ At e 1 AX 1R - i HIEAEML - A DA H B LA™
INIFREAE > P DAREEA N FRIR - (HMIERG SOZ RS, S R SR B RE

2~ PHEAERZEMEECHS » XL —RR Bt D (Exaan BN
2N deadline 1R7™48 » BiHTFHAT4ER 7] DU AR ) -
Q0|

Briefly summarize the problem and two possible solutions. Then state which solution you

recommend and explain why.
4

(1 EEY BANPRE T t—ikS K% EREESHY R XN EE A M= Ry
band HYE(HEFES —> history paper due B, AT — N [A] 128 -
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(2 PEW]) tE ey e 1. KEIBS BIXHS paper, (HER ZUEE - 2. FKHEEB
SAEELEAIN - (ELERAHE B AR FX N EES X F£—K, FrLURA AN EHERIL
F7)

5

(FAAERE] AR, 2O — MR R RS T B AR B LR R — 2 H A
FeFIER . (AT YA TR — RV B XM ES
ZHHERE L BREDRZEFERIZREE S B A TS s e VAl M8 TE -

6
man [1Y roommate ZEHZE] in campus, T EEH — D= & o i solution,— NEHi=E &MY
IR, AR EZE AL messy o 55 "ANEFFCHEG advertisement o [RJfRSZHRFIES, g

7
FAE B TENR PG, (B M B R AN 5, 7751 MESEHSED TR TEILE 2R
B GIN I HAT HISORAET2 SERHY, 51 B2 B A A P AR Bl BT ASES TR EE B E

8

[ AERE I AR E] T —4 summer job, 3 HAE town & T (X5, ARIEHCHEEEA
IABR(ZLFEZF] T summer job (HEHE summer [EAREM(EXNE T HIFELT « [
AFTE]Y BAELTHANEMLATDIEESHS 5L EEAHE H0AEMAFIEES
FrEL © 2. P EAHANAE AR 22 A T S BRSO FU i, WO SR PR A BN T oA D R SE I T -

9

FBAERRE AR EREIA BREREELER T AN NEAIE - D RFERNERR
RADLDARESRE WE ' NrEIS 8, L AR MY TT A, 5 RIBCA GRS 8], 35— - 55
AEAREE RAAMEVERIEER A THRE LPBETHE LT RIRZHKET -

10

BESEETNZIAR paper (HAFEZHE museum A BETERL, M museum BHRELZES]T,
HEESHR R, T EX NS £S5 ERE L - L&A THNE: (D)ETTT paper IEHR
THOKAER AL, B AW XM BEL =AW (2) A5 B IRAYBIER S 2 museum, BRETN
A PAEPREPYELL, (B AEMARERIR, LRI AIm) o

11

(ZFAERME]) BEMBNAAL T 5 SEFFEMALE EILEMANZNEEE 5
s BFRRZE T o [T Y PR GETTER 1 FTRIGS MR RUS MR - 75 2
PR ETEAATFZAIRERE] - B M BAERRMER T 2 IRAVEE DO -

12

Problem: the woman broke her ankle while playing football, so she cannot ride to teach some

52



high school students, and there is no bus either. Solution 1:taxi---cash---expensive 2:ask one

friend for a ride---someone offers already---own to friend----long time waiting

13
LR B TR AE TR fETE TR o T R RIE T, BAERBGIE RN ESHE
B AR ER T AR R — R

14

774 took 6 classes this semester and she was selected to the women's basketball team « S} {5
BRUINZR & T 7t KRRyt - (RT3 ) A H O TS 1ito quit the basketball
team, since it takes too much time - 55 “E: 9514 got in the team after several times of application,
HF TR shameful - B4 i 75725 2:to drop some classes which are not so important - 7 1F
R E required classes - {HZ4E i good scores in extra classes may make her competitive to

attend a graduate school °

15
AANFEEAE sam ATHEFSRIEE, ARG X B RIEE] T professor SR/ 4H (R
JigLRi) o {HE professor IfHfZR LA ZEEHL cancel 72X~ lecture - Sam H CLELAE T PAf
R INE,— 2 reschedule,fH ZIHFLFEIGNSEIBALRELT - B —FEMEC
BRI RS T Q&A B RMIE TARIE AR

16

(BT Y gg Al 2 0 1) ZEAE 1 newspaper b8 SCHE S I A0 B I 4% i) L
[k mm 707 ik L, AZUR Y . B2 gg WX RGPS ). 5k
2,384 — R I 8], 4 U HT 2540 A

17

Problem: The women is attending a play, but she’sbusy with her school work, so she’s afraid that
attending the play mightinfluence her academic performance.

Solution 1: Quit the play

Comment: she’s majoring in theater, and she is notattending the play just for fun, it’s beneficial f
or her career

Solution 2: Drop some of the required classes, takethem next semester

Comment: she has to start over on these classes,it’s a lot of trouble

18

problem:

the man has a conflict : he wants to attend a film discussion meeting tomorrow but he also has
to dine with his cousin tomorrow.

two choices:

1 the woman dines with cousin for the man

53



advantage: cousin will know more people
disadvantage: the cousin is shy, dining with the woman may be uncomfortable.
2 the man will not attend the meeting.

disadvantage: the film discussion meeting is really interesting.

19

[Problem] The man in the conversation attends a club and they would like to travel to France,
but he doesn’t have enough money to pay for the plane ticket.

[ Solutions]
1. He can work extra ten hours every day at the restaurant.

2. He can sell his guitar to pay for the ticket. He hasn’t been using his guitar for a long time.

20 (141123 &%)

21

L2 ) Y LA 1 i S A — AN project about film class, 4 K BAAE & A §, i His A5 7
Rz HB,

WM TT 1) 0T LU ) building HIIX HLY) scenes. 2)RI BEBH R4, KN B K. weather
becoming better, {H & ] 8 & AF Xy 75 5 gt 4, JF B 5 AliX S project, WA (],

22

Man’s problem: he has to go to his friend’s wedding ceremony tomorrow morning. He has no
suit to wear

1st solution: borrow one from his cousin. But his cousin is shorter than him. The sleeves and
pants of the suit will be short for him, which will make him look not good enough. his friend Suzy
can help him sew the suit to make the sleeves and pants longer. But she is not a sewing expert.
He has to leave campus in the early morning. He does not have enough time

2nd solution: buy one from a store. But he does not want to spend money on it. The suit will be
expensive
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23

BN camping A% A K Z,

HWAMRR T Z, — DA, H2RIE, R TR FS RN,
FMNREACYK, HEF AN, WIFEAERTUEAESM, w8 HEIRY.

24

[ AT rewrite report, and in before the final grading

[f# v 772 ] :1:leave town for family reunion, hand in at the beginning of fall semester, but no
library resources available at home solution 2: do it now, and in in one week, miss the family

reunion.

25

J7E7E spring break A TEHE A Do, MEAHAM, (EEEARLMHNET, LB, (HiEAthu
%A enough money, i H SuiAt i A G T HAKKI 4457 v DLEE g A, (H 2 A AR,
AP XF, J7— broken T stolen FLANIF T

26

(B WAEY AR A ZE EHC M E LSRR T .

(s %)Y« TR JER R ADEAZIER A LW RS A —
Ffo 7SRRI INAE B BRI T T HL B

27
LA AL W22 N summer courses, fHE W8, T LASE —, 25 library 4T part time job,but
it will cost her 3 hours. 2 &7E dorm [ OB, LU & 5 (148 8%, RS HE R4 2

28

B LS —A poetry paper 4 UUI R EIAT o AHE B PAEAE A HAR HLOGTT, b A s 2 X e
RET5. Two solutions. 55—~ J&Athn] LA find a different poem to write, {24t O 8 5% JE K 11
Wi idea To 2B AN AT LL get up early, go to the library in the morning and finish it quickly.

29

schedule problem: %EZ Jj1—> visitor professor Thomas [ economic i, HZEXH 4 /)
required class before graduation

S1:  audit 2GR, WL EAD B BRAEE A A5 R — 80 S0 2 2R 1, (R L0
OIS BK 2 )78

sz B required course #EIE R FE I H 2 L BB A C summer I TR SEWH ),
W FAR e LUk 2547 less work hours |

30
(AAERME] - e A BRFEN S AT A E AL B AR B A 2 T RS
St [RERTTE]Y: 55— AN —N—E » VT - ZAERGER BAE - HEZ T w2
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HWOAERE © P - FE AN NE R

31

AR RS e AFEAR RN E] T (R -

B EfERIRS TR BAEHEFUNERRKE -

HI > IRE T WML ZHYZER] - WEMEEA D -

PR R TT A

Bt ZRESLKRSRE - FENREUZ AES AR AR 2
FMEATTE - EE R BRAEE BAER IR fEsim s o

32

(2B L B ALK T (R REE A T LR IRR 52 T)

[ il Y i v — AR 0 — e AF, S 2 H UAE — 2 R a2 (5 2
SETE SR B AR AT LR (E 2 R 22 2% S AR L, D iR AR A .

/\

REFTT o

A iR
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1

B LR EIVIROR A (28 - 30— EZ AR > Al A—#EWE ok - 1o TAE =W
K ZRERFE > JIHVINGTIRE] - ZENWELSR o = ATLIASEROR - S EfETR
PR - RIS IR - B inig St E ERYRE 4 > HEd= -

2(141129 E£%)

Protecting method of some fish in the deep sea use light:1 to confuse the predator---deep sea

shrimp: burst out light from its mouth, directly to the face of predator, then escape 2 to cover
the black shadow of itself---hatching fish(?“~ff ;£ ):constant light in its stomach, camouflage the

shadow made by its body, so the predator won't see it.

4
[ReE 5]

4>F comparative marketing » 1E] & HNTEEH 22 FE 1Y products i EH CHYFT AR %
LB L 5F o ABEXANTTEA M drawbacks > FE2EBIIIE -

1~ R E T LT W FHI 4 F (L soft drink il ROy & HREEE] T F85
TR EHIX 45 taste good R AE—HE )

2~ X &7 EUATRE 2 insult B {E A 3 F7= maWH B - ERHECURL » (28T —
ML ZKEIBIF » Wil A (2] SR A B IR KL RRERE - WIS A RT3k
REESE « S{HH B R FHYIE Wl insulted 7 > K2R AR+ ©

5

LY reinforcement, 43>/ positive reinforcement £l negative reinforcement P, [
FENNRE RS L N AEREY IR PERDEFR H A S WRAVARTE . B EL 2 T P Re S B RE
PERYPIF- = (1)positive(add the pleasure): LA H ) FHY food, ZXAEHE AT LAIE/RE M FHE
XFh behavior = (2)negative(remove the unpleasant behavior), N =¥ F-_F shower, H2. 7] L
AR B XA S LATREHET -

6

[ e R ] wildfire, RE wildfire TTDAZGE0475 L damage {H/& o] DU SRAF4A:1. BEZR
YRR E 3 (shelter for themselves and young), ¥2ft T 5471 survive [VEFIE, EEA04ZG
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woodpecker, fg{f branch EFE(E(TERAAVRIEESTE) - 2. FEAIEIHAVEY) wipeout, 45
HHIFE Y & K RS EEW14E deer, FTHYFESSE nutritious, green and delicious,which are

more attractive to deer.

7

WS R T YA, — SRR E I A 1R S2 R E R B TR B BRI
TEAEZTIIEIREY FBAETT H B A B 28 — M BB BEANSKIR ™ ndh & © 258961+
DML LRI RIS N B A ERIT R ART X PBtEAYTIH BT -

8

(VB ) Bhp40 el E[E 2R L G F (5 = (alarm signal) - PIFR{E 51 call » 2811, 55K
MU, G258 —HE, HLAMRE AT EIJS, E A E AR B AT - 2(bF 5 - f(salmon) @il &
bR R R R IE 2 SEHI{ES: {55 (chemical substance)

9

two things ancient human learned to keep the fire burning. 55— technical knowledge. & Fl K
SLIRSEIS fire die out. fEZREH AL E AR ZE keep burning, HtZE add wood. X&
Technical understanding ° &5 —,social skills #4152z [E BFEEG, K EEK T, WG T &1EN
BV FERREK -

10

The professorintriduces two benefits of flooding to farming. First, it carrys with fine soil. For
example, when water flooedd to the corps, it brings with silts, which is essential for corps to
grow so farmers can expect good results. Second, it helped with irragtion. For example, farmers
can control the flow of water and direct it to the places where water is needed.

AR 2 7550 B /K BT RAEIRAY £ - HZ Al channel the water to the places

which need the water and use the water to irrigarion those land far from the river

11

FRAEREY AR m il SRS B ORI R - AR - 22 T
By« — B D BV MIEE L DL > ZEMREIR RS - ILENTeeRIBEIEENHR - s
FMAGE © SRR B ILHRELEEEHCHE T A& - ik
X P R E AR Y -

12

children HY social skills Z/E 2250 © 1. 3-4 FHYRHERRFE—LHL HEEMMAENE -
ELUIA block BTTHYES {2, A — P RIgEPHE, ARV TRETHAAI(T L (2T) » 2.5-6 ZAYHTE,
T —#EBrEt 2 corporation T ,EEANET block AYRTHE, 1R AT, ARG —HE B E 2.2
ENET -

13
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COFEE S Y & EEAEARUR K KAl £, I 535
OOk X 25—l ), AR e W B Al N Kb o 58 RO R R A, A b S A Je it
Ry JBs, w] LA ARATT

14

[ )4 8 1 mechanism that animal use to survive from water current.

[ #1541~ 1 one is attainment, black fly larva. the second is thick body, sculpin.
A7 PR BN, black fly larva F1 splince( & 1) A 414 AT ELAE SR H CRFFANED, AN larva &
% JEK4 hand&hook, T LA LA touch the bottom of river. 5 N4 5 A8 B A —A
borrower(5¥8), 1 LLilAlAE 7K AR FFAN S

The lecture tells us about the mechanism that the animal use to survive from water current. The
professor gives two examples. One is the black fly larva and the other is splince. The black fly
larva can stay under the water without being flush away because its 'hands and hooks' can touch
the bottom of the river. The splince has a special physical structure which enables it hold tight

under the water.

15

SFE AN F] RS AR SRR T DU A €A [\ R RE A

WA 1: M low angle #1573 LL 3R powerful

%7 1: 5% Queen of England '] queen K ] lowangle 14
WA 2. M high angle 41 2451 (4. LL 4% powerless

#l7 2 A MNE N, W R AR B AR hopeless

16

BEE s AT AR LSS BN R S AR TR 2 2 03X P I G A I o g

WS 1 FATAEZ JO ST BT T iRt

#l7 1. W TR RN Z N classicalmusic concert, —4F 2 G Bt A XTIX AN concert 1R
2012 RIS )0l B AR I N R] d A T ) details

MR 2 RPREER I N B g 0 159 TE A

Bl 2. FERAES LR, ATERERZCAEREAI N, L tallboy/intelligent girl

17

product repackaging : two conditions companies would do so the first condition is in response to
new technology or material available for packaging the example used was milk bottles from glass
to plastic more durable and cheap. Second condition is in response to competition from
competitors. example used was milk again. it's competitors selling juices n tea started to sell in
smaller n more portable sizes it changed its products into smaller and more portable sizes to

respond to competitor market change.
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18 (141123 \3#%)

19
[ R 255 ] :biology class. ¥RFfZS fish can make electric current and they can benefit from

itin 2 ways:

Hig& 1. HHE W capture /M, NI 1S foods 2%fl:eel can produce strong currency to shock
and paralyze small fish,and then eat it.

Mg 20 HIHRVR E 1, REREAE RS . 284 — gL knife fish (¥ e S0 #0544 7 2 1)
electric current field J: explore the dark environment. If there is a rock nearby the it,the

current field will change. So the knife fish can sense it and avoiding crashing into the rock.

20

Y. FYA PR TGN harsh environment BRI SE T, N B8] Tt #8d
T HARLHR, AHEECEEN, FTLARAC T o SLAERX high wind, KA — A, Himaki
[ JLA%), % high-wind [¥] damage. S2 £I'XI lack of water, FFERIII:1 1] LA/ D25k, fifh
1Ky

21

KT weedsst A jtuseful, 3REH), A EH,

—/~JEhold the soil FEcoffeez#l, coffee/Hi KL Z W, weedsfr¥'fifl 1/~ wash away;
9B A S Hanimaliz i, W adcoffeeZS i, flifi]2x 2:iZ I Leleavesil A it crop, T LAR]
PLORAF AT o

22

HHZAE business class L/} advertisement [f] negative influence X} environment 550, 2
— ,wasting nature resources as trees. SR 5 2% T H CL 11, B ah i 21 JEF A F 1) booklet |4,
(B0 T bk i — U W AT, B AT apartment AN EEEX BLE LR 5 ULAE 24 70 it
NP N AN 7 2 B DAY 2% D335 58—, 58 i AR LR S P46 2 520 nature beauty
RIS 7 56 1 Rt 80— AN R S M AR T

23

S A e, T2 N 22— b2 railroad (114 Ji:

1. Jy R s e, 2500, R A W) AT T BRI, T DLARAR 22 A AR AL (1 Bk 2, AL DUZ IR LEA
b PR B J) L, L e Py s 7 8 ATt mT U 3K

2. ikAH] located in new area, %Sl 5 28 ] M SRR, AT ki I AAT Tl m LA S 456 BE A A L g AN
s R AT A L DR ki 3 e mT LALEARAT 14 2
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24

JUEBIPRR . 1 P S ingeneral M IE [ EAL AN A F] LLE XS EA A A G E . Bln:
LR HIH) slogan J& last long, M AN AT LRI S A;2 A2 B AR 7 i () D e, 1 an
printer, A 5 5% printer %N 5 #E7 with computer, slogan J&"printing as you go"

25

Teaching strategy. fi M 1>. 2 — N J2& explain the purpose. ZNE &L/ NEHA, WhE T —4
ARVFERE BZ ZRPGHIE . PUARZARPE IR A, 512K H, damage the desk. 2 />
J lei students make a commitment. Zifi T —5K poster, ik 54N 2% 4 sign up, 285 Put it in

front of the classroom.iX#f students are more likely to follow the rules

26

P Ff majority influences

1. informational influences — & 7E 0 T 3RUERE B & A4, WRIF 224 —HEN 2
town, KA BN XY, (Hig A AN# 2L go straight, — LT, HAWHiSUrH
fi NTWE L, go straight T .

2, normative influence — % /&4 T gain accepted, LbUNfRFN—HE/RAEAIAT] become friends
AN—EAEHRRE, MWIIERU IR great, BARIRIAFE awful 1, (HERASIBAUL, B4
— BARISFE UL, a3 1 CA 2 one part of the  group T .

27

CHFREE S]] - OB AR RIS - —Ff © maximizer » 2840 @ SRR ATREZHYHE
BSOS TR E R S ALY - ZFf © satisfier - 285001 + SR BIRE G R F AT K
AYRLRTEAT - BRI S AR RREE SR ) - 1A S AR R R mT DABROR B

28

a AT A YIS KPR B (R - S— A T 'PIRIRIR - 17 7=
WEsrss - FHHRA LR -

B MR TRAZIN S — e YIRS o LRI o (ISR AT DURE B0 AI 9B o

29

Lecture UFBIWIORY (0, BUATPIRIIGOL, 2R3 A B EAEAAL, 5 P A B A 2]
by 2, Prol O RFFERE FTAE AT —FE . 702 T Bl frog A1t lizard 11:451
T
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1

i

it congestion pricing - %) T BRAZMEHE + ABTEAE city YR NEKIRULER » SRERLAEER
_‘F °

1. ZXFEEAT BA improve time( T S5k 2 15 1144 ] [H])

2. AIDLEEFF 5 improve that area's environment

3. Ya#y fee AJLAHI T revennue (X~ B 1A G LB 2. R REERE) the city ATLLFHERS - B (T

Nk

0]

1. A A IXFE A L ml ML B B A B OE XN X SO 43 28 %, SR ORI Al 2% 7 AN+ 3%
PRIBI, ABATEAER, B LRI i e K.

2. FEWCHRIX S A SE AT B 4 ok, AEE E R AR Bt &S 852, noise and air pollution it
%o PTUUAZEEA city #REIM G AR 4f

3. HHIAARGE afford XA T, wte 24 subway, BURELTS HE 2 10 4ED subway, X
FE— R SR AT BEIE AN Y 1), I A A ReEE 2R BB, BAt A mER T .

2

el ifl: — AT BB AEAR A LA 5 SR AR K 0 J A

() IR ER S E IR,

(=) plant 1RZ,

(=) warm climate

HE)

(—) FARESELELEAERD

() plant 2RZ, (H2EREED

(=) warm climate is actually a disadvantage, because they needed tocool off

3

Bl BB K BAT = AR AT KR RE

(1) RZRAETSN A CREAE, WIRBAGEM B L%

QRYRSATERMGE MRS, REM BT =R E A

(3)RZ AN B

PRI €23 19

()RS A T A vk, BRI &dh, EKEA R 51

Q)R g EE LR RO NIl BeeifE GIZANHBREENTTED WA Z A
BYREAEMZ M, B IS R0 E T BIYIARE BRI KRR (A RAE T,
HURANET T,
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4

Bz SRR 22 (1) AR R A w] EIER 257 %00, M B CJF 2wl (self-employed)
1 KA#H FEEHKZ bureaucracy, MELLVSZILH Y ideas

2 RAH EYETARERRE EORAN N AT

3 KA TR JLEARAE extra benefits, FLATIER S, FEAR KB TT AR5 .

Wr e —— REE=ADM A

1 ACTFARERN TS EL.

2 ACHFA AW E A RS, AR i AR

3 HEJF/A T extra benefits B %A fRiIE.

5

lionfish [di: lionfish MEDREEEY & BIR T BBz A3 = 7 iR i X o £ f U8 3} 38
fitt (coral reef)

1 N THIHEEANTK protect coral reef L4 R 4¢

2 AT I N TS (fish market) JXAER] LA/ DX AC L (local fish) 1773k, ikl 16E
A (recover)

3 AT PR EATTHIN H R, B e AT s R R W

EErE N JTUE

1 N THEHEICIEIX ) lionfish AR, 1R ZHA (N AASLE coral reef , 23 ya/b HoAth £
2 5l HES8A AN T IR lionfish 23\ fish farm 6 (escape), Xutidhk 7 8™
T[] invasive (1] {5

3 HIRUATLE lionfish 2 8E1, W2 T LLG & I&E K vomiting, numbness, arching , F&A17G
R — 45t T LARZABAT I A 224> Cunsafe)

6

WEESE YOS T Harappan civilization decline [ )5 X ) =AM 5

S AN A 52 BRI W

AR SIS T .

B AN e R aE i KA BRI -

Wr g B —— 5K o

S AN I H ST R AR ORI R BER AT T A LA M X AR I A 2 T 5 B
decline.

55 AN 2 R I U PR R R ST 5y — M SC W [RIFE I 52 T AR AR AR R T A T
surplus 1] food. FTLEL H ANA GELR A% AZ 4L 1T decline.

AN HONHE A TR, AT T e K R GERT LT 1 i KA 7. o o

7

[ 5152 ]) lecture YFU[E [¥) written book Pearl Poet BLIFAE# 2 & ifE, BRI HA—NEHIL
XA — poem ] title NIHIIYAT 4 P. SCERR IS T, = Fh I g

[1] %8 1 ML ATHERI A John Massey, AR viAL R ARATT R4 i 1] handwriting /& —
FEI 5
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[2] 25 2 A& Hugh, K4 HIH AP —7 poem #5511 region A5 — T4 A%+ Knight
4 5 1 T —

[3) 25 3 FPA5 ML AR VY & 1% /2 — collection, Pearl Poet J&:—HE A .

(W) 5]

(1) 55— 2, o 2 01E AL 5E copy 1B K, JRhd reproduce IR Z k. BT AATTE
BT e RN T3P copy original (15, ARERMIEH A

(2] 55 A3, Bz S, B R T dialect AN X B A 4L T A )47,

RAAF EE dialect, JT UBMEFELE AR FE G 60T & AR

[3] 14ii] 75 vocabulary [ FHERE I #& H A 2 IRAIZIX A X 2 — M ANEI, A
HHE IR Z N collection #i471X L8 unique FIHF:

8
#1515 bee F£ 200 million years FUHEFFAE T HIM A2 2515 - B -
&bt

2 ZEHEY) -

3L ESEHTREAR /2 bee HY ©

speaker SZ3%

1> A EEBERIEHMERA » Tk preserve (b ©

2. bee A H feed on (EHY » B LU pine tree (2.0 °
3. ALY E AT AT E B E A ELE bee HY -

The reading material casts doubts on the view that bees existed 200 millions years ago. However,
the listening material disputes the ideas presented in the reading with several arguments.

According to the passage, bees could not have been in existence 200 millions years ago because
there are not any fossils of bees from that time. In contrast, the lecture argues that fossils could not

form at the time because there were no trees which preserve fossils.

What is more, the author maintains that there were neither flowers nor food for bees 200 millions
years ago. Nevertheless, the professor holds that bees do not have to feed on flowers because they
can feed on pine trees or other things.

Finally, the reading emphasizes that those fossils may not be of bees. On the contrary, the
listening asserts that those fossils are of bees because the chemical substance of the fossils has
already been tested. (153)

9

Anasazi CIHSESR vanished, flivl &1 5 drought & . HEWIT:

(1) 2ERARNE, % SCHIEHIRT G I — 2 KRB BRI, k™ 5, ECCH
THHE

[2) SCWHHZRAT,  Anasazi AN CERUBEEKRIAS,  AATHE G IX LA HEREIR
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UEARBE K, fIFS Anasazi A JGVE N SEWIHR I 59, 18 B I 5K b .

[3] Anasazi [F3CHHVE AL IR 588k with no notice, i H. in a short time, ¥t W A& — 1) SXC
WIREW IR o %206, KT Anasazi [SCHWISSRWHEI R AR 2, (AR5 E®R, +
U R i A . BT

(1) 2BRAZRE L. SCWITH 2R 1800AD HijJm &1 — X KARWE, (A% KIL Anasazi J5UfT i
PRI R AT ARG, — s AN IR, 0 B A BRAR I A7 K IR R 7K i AS T

[2] Anazia A75)LAEFERTHEEAKR A, 1 HART 5841 68 1 i 28 K, Bred,
K —PEWA L. OX— BT

[3) SCHHSEAR N, vl fRese AR RIE R . EE R Y% plague FEES war A7 —FPELR
WK, AN ARG K 7% civilization 4 T 42F/KYEHFT Anazia AFTA4L, AT 555
TR

10

SR (E

passage W T —Ffn] BE [ EE A ARRE— IR M PR K 4t

1. sea level decline I /% coast living K4,

2. cool climate, 1= 92 & K LG 838 A1) S02 M4 %, FEHLER AR ¥4

3. asteroid strikes, 2 [f] cater fHEMFFAE R sunshine, 1 3& 2L KL IH) IR A

listening HLf¥) professor HEAT— fi— A5 ¥k

1. i sealevel ZEAS/NIHESE fluctuate,{H21R graduate, ITLLX) coast living 38 A J 5% i

DR R B AT T e ad Y A B 1R AR A

2.502 HARBEAEHLERAZ A (EJE KA P S02 R4 22, 1M HLId g 2% BT N 14 2 J i L

3. asteroid fHE i HBEK/ELE 12 million year ago(Uf 1% e, A KA I AEAE SC LS ), 4 4B K K 44

R FIX IR BATA R

TR — IR KA 1) D D

1. I E T3 R i AR ) K 4

2. K BIEFhE R ARG 2, SEHIRARR .

3. /MY ER T AT S A ZE BRI, RO LA B AR o R I AR KA TS R

o K4

1. YIRS BB, T BT BT ANTRE R R, AR A I A ) 3k s R i R
hy A

2. KA S02 A2 Hoad oh 722 s e W B 21 i | .

3. /M ESETHERELE 12 million year ago(UF 50 ), 78 AW K 42 i B FK IR BATA]

KR

B BRIIBIROCR

11
%] 32 3 % deep-sea mining
1. W& mining [1) metal J& &A1
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2. ik metal 175 4% n) 8 0T

3. IR mining B4 VA ) @t

e B

1.volcanic mining 2K ) metal N—5€ available, H AT AR LS, collect and
transportation £ AR #EA LT

2. B2 metal Hy5 4 2 A PN, (H&75Wlk 2 drift back 1?2 Zh#)id & 22 52 520

3. HARIAEIRZ law 451, 1 coast J& T 3 —4~E %K. international agency &law HXJ 2
AT % coast TR .

12

Primary care doctors

S iR N

[ 152

20, 000 primary care doctors are in shortage in America, there are three reasons

1, bEsafisadhor, FAETELEK, Yl 5 primary doctors 1) TG, AEIEGTEK

2, PCdoctors K3k,  TAEMEAK, HRPEAZ, BNEETEXAN TE

3, the opportunities to get trained are limited. MV 5 BRI =44 B L, {H /& residency
position %, FHEURZ A AENFHARIEI,  Z J5 AT & 1R 550 0l 1% AT

Wy J)

XA fi A AT fift R

1, FAENEN KGNV G primary care field -, BURMF Rt SBT3 AL B, Eoand Bh i
DR SR A

2, WRAEYI L, b AR AR —r B AE AR, L T2y, IR AR R > T
3, REMA T —ANEE, Fe W R AR AR AR AR, BUR SRR e HE 3
HAbP e, XLEPRiAT residency positions

SRLCECR A, PSR A2 A ], W WS ARG, BRI MR AL B TIOCE
IO T, =N AT REAE, REW A0 SIS A R IERE, 5k
B SCH R I, AN 1 BB, ARSI T BN A A CHR T MBS BT
Bib, 280 NF-AiAi.

7

13
Ba5HE
[ ]
Electronic medication record
Reading:
It is benefit to have electronic medication record.
1. Save money
2. Lesserror
3. Provide research data
Listening:

Disagree.
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1. Doctors will keep paper records even if they have electronic records.
2. Doctors like to use paper records, and ask others to input records into computer, which will
more easily to make errors.

Medicine records cannot be used freely.

14

Ba5HE

Schools in big cities do not have enough teachers, the reading believes that signing bonuses

( offering teachers cash payment,and other financial incentives) project can improve urban
schools.

1. Signing bonus will increase the income, usually teachers' income is low. So this project could
stimulate other teacher to apply for urban schools.

2. The Signing bonuses makes the teachers's salaries comparable with other professions, thus
would attract capable candidates from other professions into teaching positions such as
computer science, engineers.

3. The signing bonuses will reduce teacher staffing problem at the beginning of a school term.
They will not quit at the beginning of their jobs. Besides, They are legally obligated to pay back
the money if they quit.

Wr 1y

Listening

The signing bonuses are not likely to solve the problem.

1. According to a survey concerning what do teachers care the most. Salary is not the top
concern. Other factors, such as how well the school administration is, how well the laboratories
and libraries are, or even the commute hours matter more to some experienced teachers. So the
experienced teachers are not likely to apply for urban schools only for the sake of money.

2. The biggest obstacle for other professions to enter teaching position is the stressful and long
process getting the teaching certification. They have to quit the old jobs to prepare, which
results in salary loss. If they are preparing while doing their current job, it would be more
stressful.

3. it would not be a good thing to both teachers and their students if teachers are trapped in
their position. Teachers can not leave schools before they pay back the bonus money, they will

not in good mood, the teaching and student will suffer.

15 (141123 23%)

rafa Rorme— N X 1 1 . ==l RN v N NEER 2L =
B ARTEAT AT, s B Rl BRI LT R R Bl




16

DEY ET 7T B R A AN AE

CRE AR B TE SR — AN BE RS TN B S b A7 A8 1) BN, (B2 U0 N3 B AT e ™ A
R, B LA DR B R R IOACAT AR IE s 58 ANBE U S 1 0 ST A T A i e LU i
AAEAE, B BRI 5E 58 R WBOIT AR L35 B AR = A BERUE 245 R LI 5L
e — TR SLI Z54 Caps, ELEEZ UL S8 A7 AE A [RAL 22 ) o

17

Ba5HE

Business ), [UL4&H 7 =R S BT, Wres T K.

1. New version of existing products,

SR I 2 T SR 22 5 AN OB A SO B A5 I TH RRAR R I, 5020 TR0 AN 5~ VOB 31
B

2. New product related to the brand.

S IR A& dn B TH ) vehicle 2 &2 tough, W1 5T 7 5 U boots B IXFEN quality, it &4 A
A 172K bad reputation. 5 5% A1 SR G SCOKIEM R ) R ITARSE T 58 0 1, 88Ty v S 3E
N

3. WA

B2 a0 R i — A AE A TR AT DL & w54, EARA A M. 28 T — vkt
WA 58 Ty 5o AT LLAIERAT — R A 2 5 D IR A w T 4R B AR DKBH, A FEAHO
UK AT, S FBNEEZRRTEF KR

18
BAe5Hk
[ /]
A EE T R
Reading:
1. ANBEAEN T source of food
2. Migrators ‘7 K[ competing for grassland

3. OHRHIRRE, AR AR
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Listening:

1. NREMNARETAERE 00, (H2 B4 T BRI A TUILTT R ), ARESWIZ R, H2 80
BA TR

2. PRI RAAESER IR AN Y, AARIE R B, 38 W] LG SR T 5 M 2 RS AE VR A B R
TFAF I o

b 25 R g s OB aCas — AR R BT LOBT o s HH IS B R R B2 0 AN Y

19
Ba5k
L]
fiff 12— PP PE AR, SRMBLAE, AR5 bay, SFE I ECE N, BUR EE U0 % R
e AT o SR IR B R B IA A BICR, JR A =
(1] BUR KA % &2 predator, 4Pz AR R E R, X4 2 bl
B SRR 3B RA, P DU i 4 i flf £ 1 4 B I A
[2]) fi£f 2 livestock Fl poultry 1= 228 FAOKYE, WS TH#iF7, ARZ farm
AR BN A TR, T2 250 .
[3] fishing limit iL 2/ DI 2 ol K67, R 2 8EE 8, I L& FAE Sy ri s Kok
fiff £ 7=V (R 45 2R 25 AR, IXAN PR T AKX 1K 2 HUo L2, FEANHLIX 25 2
PRI 1 52 21570
CIITd
[1] %) predator /& part of the whole ecosystem, ‘& [ 47 4EAH AR 22 HA AP S 1K 1)
H under control. FTLAEE & (ki A& PR il 4 #57,  AN2E disturb the balance of environment
(2] 750 8 A iokds, filifa ] LLgY soybean BT8R, K K 54T livestock Al poultry
R ARG (0 8 B POk I T HOR b4 78 /2 o Farm ARASAN 23 52 BRI 495 14 5% i
[3) L AT 52500 B H G . IX AP fishing limit 2 & temporary 1, HIFJH
S A T Lk il e B R B G K, — BRI TR KR, vl O] USSR R AR K. n B
TEANPR G, CLUG A ST A 2 FLIET collapse.

20
BA5Hk
[ 152 S
# Rhone river [MJE, o245 RKIL T —A bust(F& — Pk REE), AT IZA bust
A& Julies Caesar [, A JLNEEH:
[1] style of the sculpture: SLZ I AR XS IELf & Caesar FIFEAEACHT, 1Y “realist style”
[ 2] resemblance to Caesar’s other portraits : Caesar ZEAC 1] silver coin "5 fi i) kA%, Fiz%h
RILIIIEA bust AEHF AL, Rl Sk &k
[31] location of the bust found: Caser Jii KA HERY, AT LA ARANECZE BT 1 [ £ 4030 F bR
Caesar [FJ3kA%, PrCASLA L T, R Uif538
Wy 3 U s B4 SO
[1] style of the sculpture: SLAZ I AR XS IELf & Caesar FIFEAEACHT, 1Y “realist style”
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[2] resemblance to Caesar’s other portraits: Caesar “EAX[] silver coin LA Ak, F1%

[3] location of the bust found: Caser J& K#%HEREH (overthrow), T AR A B #r 1) E + 58
1A N IR Caesar M3k, FrUAstymm T, IR pif3.

21

BA5Hk

reading K% T deer [ i) =%} function

1st LA

2nd keep from predator

3rd male H KR -4t A]] predominant

lecture [FIA A

1 AN, deer ERIL GBI AIELE grow We; cold [ /7 ik grow We; 4 LE warm [F13h
deer K ffi /N, cold FRYHb TSI A I A, B LAAS & F SR R IR

2 AN, W LR predator WE, J female WEANKE . AT, 7E454EHh )5 deer 4 kick 7B
wolf 1]

3 AL P deer confront each other & H song KAL1A(E B, X5 Hd—H deer walk around
WA clear ISR B2 A LLE/NTT deer walk around T 1]

22
Ba5Hk

[ =581 Stone 14 Be S A i B4R 18 1) 7

Reading:

(1) KUK 1

(2)ice It stone ELEE LK, 1§ F L HINRHE T8 stone B 4);

(3) A move.

Listening: 3% :

(DA ABMIREE, VLB IRK, BT A kR E, AR X 4 KRB S .
(2B TT A AL KIUKE, temperature AL, KAV 78 42

B)ECh Ve, WRANALE, SR, HERARE, HEA NSRS E k.

23
Ba5Hk

Reading material

—HY Anazia 1 3CIHZESR vanished, {1 & T 5 drought & ). PR 0N :

1. RERAREE, % SCHIVEHIET S 1Y 1800AD IEAH — 3 NANBL I A BRARRE, 7 k)™ &1 5,
T

2. I KRHT, Anazia N O BB KA A S, (BG5S A FHERE PR IE
SRR, AT FF Anazia NJCVEN X SR HR IR K, #0E T K .

3. Anazia 132 I HE AR S 224K with no notice, 3 H. in a short time, 16 B AN & — & ) ST
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WLV A, FIREAT A, WAMET . - o

Alt, Anazia SCHHEETT5

Listening material:

B, KT Anazia SO SR IR AR 2, (HEAEA €, TRMUETEZ
AN, E R

1. ERARMEYE . ST KK 1800AD B J& s A1 — KA WZ, H% 1 KB Anazia J5i{:
BT OB AF ARG, — R ANGRZK, 100 B A BRAR I A7 2K 1R R 7K 15 AN AL

2. Anazia NAEJLEEFTEAE KR 25, T HABATT 58 247 68 )il & 2 08 1K, L,
R AN RS . (X — UL

3. SCHISEARIHE, W] Rt HAd S PRI . EE A% plague RS war A7 —FhBLIR
WA, T3 AR KRS IK 7% civilization S T +2F /KA Anazia NATAL 18454 & F K
.

24

SR (E

Reading

R | prairie dogs(T AR ) FIECERCD, ATHUE S NAXAEIAE IR S 51K T 4418 .
1. AR RATHS LIRS geological pests, K A EAT1H] cattle 5 4+ £ A7) AU (1 3t A2 5 1h B3 J50)
2. Prairie dogs & ' fleas, & il ¥l eI AA1E YL 95, do harm to human health.

3. Prairie dogs do not have enough ecological importance to deserve protection.

Listening

1. IXFpAEY: outdated, [ INFE cattle obtain food by feeding i/ cattle K& KRUEA T,
N5 B Ak B RS .

2. Prairie dogs & [ [f] fleas 7E A & L AREAF WG . Investigations have shown that in colorado,

only 10 people suffered from illness by contacting the prairie dogs in the last 50 years.

3. BAR T HL 2 plant eaters, (/2 BB FIRAET RS A H KM, #1401 burrows made

by prairie dogs represent a habitat for other species, T4 (X B A KM E) IEA prairie

dogs J& B A1) predators (%141 fox) ) &4k FTLL the decline of the number of prairie dogs

exerts a negative impact on prairie ecosystem.

25

B854k

5] 15 AT ) 41235 44 11 Pearl Poet 32 ik

%*&:

[ 152 John Massey 75 7 [E P AL EE, X B DY & ¢ i = 1\ Hh 7, I H John Massey Fil Pearl
Poet 1L —Ff.

Wy s AN AR 22 REafciR e i b 5 N 58 i, 2Bl — PR AN RE U0 BH 1) .
BB

415 N A& Hugh BROAA'S T 56T Garwain [RFEE 10 VU 3 4 I F 01 & LT Garwain

71



o TAMRECA T ORI alliteration.

WrJj: Pearl Poet Fll Hugh ZE1E I 7 &5 52 A —H

=R

Bk DU REIAER T Re A R — N, B REEL 20 I FE 21 7 Jehs 22 AN A I H X

WrJi: AReJLAN, UMDY &R R R AT, Ao REAS RIVEE H 58 & —FE 1 IE W i 1)

26

BA5HK

b

FEN L : The special shaped head functions in three ways.

4365 1 ¢ First, shark with such shaped head turns around quickly.

43165 2 ¢ Second, such head helps improve the shark’s sensitivity to electricity field.
431615 3 ¢ Third, the head can be used as weapons to hunt prey.

s
FEN L - The hammer head sharks do not function in the ways the passage pointed out
4365 10 Itis true this type of sharks turns around quickly, but the reasons are the skeletons
and the joints ; The passage drew the conclusion from a group of sharks which are younger and
therefore could be more vigorous

4365 2 ¢ an experiment shows that shark groups demonstrate similar performance in terms of
the sensitivity of electrical field, which can be detected with 30 centimeters from the

objective. ;

43165 3 ¢ Since Sharks with hammer-shaped head have eyes close to both sides of the head,
which makes it highly risky to use hammer head as a weapon; even thought it were used as

weapons, there is no evidence showing this behavior is conventional ;

27
Ba5Hk

Rreading

65 ¢ bonobos less aggressive than the chimpanizee °

ANy

1. The expriment shows less aggressive behavior on the Bonobos.

2. The Bonobos were observed that they preferred to protect the smaller animals.
3. The Bonobos does not kill other species.

Lecture

W SRR A B R SR B R RRAORAT T ERER L TR A A

Hi8H  the speaker does not think bonobos less aggressive than the chimpanizee

1. The result of the expriment cannot prove the real behavior of Bonobos.
2. The reading ignored the fact that the smaller animal would often attack the bigger ones.
3. The Bonobos have no access to other species.
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Ba5Hk

e [ WA BRI R R U T AT tortoises £ 3 K

1. FiA—Fh pine trees PR IX PP AL AN B M

2. KR EH 1 release to wild environment.

3. BFIXFlff reintroduce to — L JFUAE AT IXFh AR I HL T 256

Wr ) s 3%
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10.

11.

12.

Some people say that we should use clean energy to protect the environment, but
others say that we should use traditional energy sources such as coal and oil because

they are less expensive. What is your opinion?

Do you agree or disagree with the following statement? Society benefits more from

works of great artist than from political leaders.

In times of an economic crisis, in which area should the government reduce its spending?

1. Education 2. Health Care 3.support for the unemployed.

Do you agree or disagree with the following statement? In the busy and crowded world

today, we should not expect people to be polite to each other.

Do you agree or disagree with the following statement? We should state our honest

opinions even though other people may disagree with them.

Do you agree or disagree with the following statement? Teachers were more

appreciated and valued by the society in the past than they are now.

Do you agree or disagree with the following statement? Workers would be much
happier if they are doing different types of tasks during their workday than doing the

same task.

Do you agree or disagree with the following statement? In order to attract good

students, a university should spend a lot of money funding social activities.

Do you agree or disagree with the following statement? Teachers should be paid

according to how well their students perform.

Do you agree or disagree with the following statement? Parents should give school-age

children money as a reward for getting a high grade in school.

Do you agree or disagree with the following statement? The environmental issue is too

complex to be handled by the individual.

Do you agree or disagree with the following statement? It is more important for the

government to spend money on improving Internet access than on public
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

transportation.

Do you agree or disagree with the following statement? Most business people are only

motivated by the desire of money.

Do you agree or disagree with the following statement? Professional athletes, such

football and basketball players, do not deserve the high salaries that they are paid.

Do you agree or disagree with the following statement? It is better to take a secure job

with a low pay than to take a job with a high pay but is easy to lose.

Do you agree or disagree with the following statement? Playing sports teaches people

more lessons about life.

Do you agree or disagree with the following statement? Students should not take

part-time jobs while they are studying in the university.

Do you agree or disagree with the following statement? The telephone has greater

influence on people’s lives than television has.

Do you agree or disagree with the following statement? Technology designed to make

our life simpler actually makes our life more complicated.

Do you agree or disagree with the following statement? The food we eat today is much

healthier than in the past.

Do you agree or disagree with the following statement? It is more important for the
government to spend money on new buildings than to preserve historic or traditional

buildings and homes.

Some people believe that taking field trips (e.g. going to the museum) is an important
part of children’s education. Others believe that it is better for children to study at

school. Which view do you agree with?

If you are to elect a student leader for a student organization or a club. Do you agree or
disagree that honesty is the most important thing to consider in deciding whom to vote
for?

Do you agree or disagree with the following statement? The most important things
people learnt are from their families.

Some students prefer to have their final grades determined by numerous small
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26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38

assignments, whereas others prefer to have their final grades determined by only a few

large assignments. Which do you prefer and why?

Do you agree or disagree with the following statement? The most important goal of

education is to teach people how to educate themselves.

Do you agree or disagree with the following statement? It is as important for older

people to study or learn new things as it is for younger people.

When choosing a place for living, which factor is the most important one for you? 1.
Living in an area not expensive, 2. Living close to relatives 3. Living in an area with many

shops and restaurants.

If your teacher says something incorrect in a class, what will you do? 1. Interrupt your

teacher right away 2. Keep silent 3. Correct your teacher after class

Do you agree or disagree with the following statement? Improving schools is the most

important factor for the successful development of a country.

Do you agree or disagree with the following statement? In the past, it was easier to

identify what type of career or job would lead to a secure and successful future.

Do you agree or disagree with the following statement? The rapid growth of cities has a

mostly positive impact on the development of the society.

It is important for the governments to provide money to things that are beautiful and

not just for things that are practical.

Do you agree or disagree with the following statement? Parents should set strict rules to

their children if they want them to succeed in the future.
It is more important for a university to spend money on improving facilities (libraries,
computer labs and technology in general) than to spend money on hiring famous

teachers.

Do you agree or disagree: celebrities are more important to younger people than they

are to older people.

For any business to be successful, it must spend more money on advertising.

Yourjob-has-overallereaterhappinessthanyoursociaHife do- (141123 £2%)
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39.

40.

41.

42.

43.

44,

45.

46.

47.

48.

49.

50.

In the past, young people make decision by their parents now they are better able to

make decisions by their own.

AR HEE M N A Many people spend lot of time watching sports programs on TV or
following their favourite sports teams. Doing these two things will have negative impacts

on their life. fR[EAERAE K Z B R EFIZ5) L IRECE B BE B =)W BA L2

Do you agree or disagree with the following statement: student should take at least one

year to work or travel before they go to university. 2Z/EIAE XK gap year, &1 ek

Jade—4E 2 trip Bk work FEE K%, REAE?

If parents are too busy to accompany their kids, do you think the kids should spend

more time playing games or sports or they should do more related to schoolwork?

The government is not educating people enough about the importance of living a

balanced and healthy life style.

PRFFEIAN R &, RE AR 2 [E K countries HEALIA 35 4] /8 environmental problems(such
as pollution or blobal warming){H & 55 1% %L environmental situation 7E A kALK
Kk

Do you agree or disagree with the following statement? It is easier for parents to raise

children today than it was 50 years ago.

Do you agree or disagree with the following statement: A leader should admit if they

made a bad decision. Use specific reasons and examples to support your answer.

Do you agree or disagree, it is easier for people today to become educated than it was in

the past.

Which way do you think is the best for a student to make new friends?
A:joining a sports team;
B:participating in community activities;

C:traveling

Do you agree or disagree with the following statement? The rules that the whole

societies today expect young people to follow and obey are too strict.

Do you agree or disagree with the following statement? People who develop many

different skills are more successful than people who focus on one skill only.
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51. Do you agree or disagree with the following statement? It is better to relax by watching

a movie or reading a book than doing physical exercises.

online-Which do-youprefer2(141129 L\ %)

53. It is necessary for high school students to do household work after school because this

can give them a sense of responsibility.
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